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Sec 1.1 Functions

The area of a rectangular pen is 1800m2.
The width is 30m greater than the length.
What are the dimensions of the pen?

List what we know:

Can we find an equation?

remember to define variables!

Method One ­ Algebraic

Sep 7­3:01 PM
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Method Two ­ Graphical

x y = 1800

The area of a rectangular pen is 1800m2.
The width is 30m greater than the length.
What are the dimensions of the pen?

We know that we want an answer where the 
length is 30 m more than the width.

How can we solve?
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Ex 2  p7

Sep 7­3:15 PM

Homework

Read Ex 3 p9
Review "IN Summary" p10
p11  #1, 2, 4,6,7 
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